FAF2FARY I FERTEPF- BT HKEHRL TE_51 PP i

Mr B¢ RFILEE S FRAAFAXK T.4vr%a > 0,b <0 B|(ab, —a)=* o8- B % *2?
MERFRAFARL X WDF- % B)F= %
- ~EE(FH3L) 30% O©%z %7 DFw 4

LT 5ie & Es Am £ 2500
3
W2x+3y=3y+5  B-y=6 8.4k P(a+5a—1)E3% & & ffxfht - 5 B
©)0.5x+y—1 M)2x+y=5 P Bhefx kL ?
(A5 (B)6 ()7 (D)8
2.-] 2 £330 L BF R B EF - 4R HITR A -
33 enyh Lk ﬁﬁ?“-@ﬁfﬁ-ﬁ AR
Y& ?
(A)2#& (B)3fE (CH4E (D)5

2x—y=4
SEie g 113
9. MWL A {—4x+2y:8mﬁ

T ik P ¥ I AED
WDx=2,y=-1 B)x=3,y=2

3.7 R2x +y = 13:f#7 © #f2 O LEF T
Dx=6y=-1 B)x=-6,y=-1
COx=-6y=1 Mx=6y=1

10. R zl42® B &R - AfB4F B 278 > B4R
Edi R 7160~ atsF &y B ABAKHMEB

4, 2 - XN 3x+4y =128 T 5B 3 42 L - X407 > FRP B E 4
27 B ? o ¥

(A)0.3x+0.4y=1.2 (B) ix+%y=1 W15 B2 ©25 Ddrjz

10
2.5x+—y=10 —3x—4y =12
(C)2.5x +y (D) —3x — 4y B AR (F34S) 249%

LLE XT3 2= 3N
x=3,y=—-2>Rlx+2y—1=__
5, FHvE- x s yR - - XEF S fgl

{x_2y=_4 B C Y
3x+2y=12""""° 2.3+ 853x+y—15+5x—2y-=
WDx=-2,y=1 B)x=2,y=3

Ox=2y=-1 Mx=6y=1

3.3+ E(x+y+15) —(—x+4y+2)=
6.2 £ 4T 5 + - BLA(-8, ) FxphinEE A a - Iy
phenpedg £ b, Pla — b=?
M11 BB ©-5 Od)-11
4,38 2(x+y+15)—-3(-3x+y+10)=

(FHEEARE > FEEES)



5, j2 5 > & f2 30 {3“"_15

y =2x

#x = Y=
1, 1
2 3 X731y
7x 127

\‘2

? 28R (Z 5 N K iFfe 0 7 4854 ) 15%
§433A s ﬁ&}ﬁ—g;&g 4_43&— B
A= %8 PFIRHFF LA 0% » PIAFL

- \n
g -
T
T T "‘"
[SLEEE

X

~
-~

2. 405 @ £ D RenE L E 23 FH A9 5 A FES
BESCMNERE DT ERaHE S P LERM
ehiE B B R?

3.3 - Bk ELrdkF 3B 2B kT
fes 19 o= indkent i leF 2B R EF HD L
PR P RO R84 2T PR ket B 8k
£?

e R (FAD

1. & @+ 2 fg5d {

3R iEAE 0 BRI PA) 31%

x+2y=0

vy —0 1RO D

Blb +5=?(84)

vl

2. «w2x+y=143x—-;=T%ax+2y=7

4 40k i3 > Bla=?

3. #%| -113x + 85y + 311| + (—313x — 115y + 511)2 = 0
R (2, y)=2(84)

4. 22 & &Rt > 4p R ehe BAB,C,D
A(99,9), B(117,4.2), C(99, —9), D(—23,4.2)
(1) 3 &H% 6 2 H7A~B~C~De g:(44)
(2) “ B> ehe #55 f 5 % 52044)

y
(/\
—~

WEs33*)

!



